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N & 0l & AF S & M M

20199 &= =0 & LA ZEONE

SA: BENLD
Ha: =B
Sl HEE FHBY X4 (Eto: & d)
= _ = s
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
Eag=1/ =g 3,628,807 4,826,637 A 1,197,830
= 300,000
= 400,000
< 54,000
[a 2,874,807
FHINA 349,738 384,838 /35,100
HES FHEd =24 349,738 384,838 235,100
A=Y 29 239,738 134,838 104,900
201 2Bt Yl 216,860 111,860 105,000
01 AtR 2t 2l | 216,860 111,860 105,000
OAZHHESY IS E| 10,000
OAZAASYR HEs+42
144,092 = 1,3882 200,000
OA=2&s HFAx=E 70,0008 208 = 43 5,600
OBSTYEANMAARSE Ba4+Y
70,0008 * 9 * 23] 1,260
202 o4 4l 21,978 21,978 0
01 ZLHO I 21,978 21,978 0
OAF3IIILE % BAE Z2 11,988
SEENInLIE I F<g-F 9.990
203 YR =&Y 900 1,000 A 100
03 Al =P =AY 900 1,000 A 100
OAZHIHAIY FT 900
SSFH 21 20,000 20,000 0
402 QI2tXt=01 & 20,000 20,000 0
01 A 2AML E X (M) 20,000 20,000 0
Oss=+8 2AcXA 20,000
sEUHEHIAY 30,000 30,000 0
402 QI2tXt= 01 ™ 30,000 30,000 0
01 Q=AM E (KA ) 30,000 30,000 0
Oelg &l 1,000,000& 3000 £ 30,000
A=S0=a At 60,000 0 60,000
402 2I2tXt=01& 60,000 0 60,000
03 212t &AL HI 60,000 0 60,000
OEAMIAZA NERES 60,000
FUHEASY KGNS A 567,702 118,224 449,478
ZEUA= NS 567,702 118,224 449,478
HEFRF K& 557,298 0 557,298
401 AIEBI L 2 CHEI 557,298 0 557,298




A FEMHLL
HE: FOIBOZA XL AL
el ZEAs NGHe (=& J)
4
SN HH-S(BN) - MBAY - B Ol &k o8 il HlnE2
01 A& HI 555,968 0 555,968
OFHMAHI HBZE MHE(XS) 555,968
03 Al =2 THHI 1,330 0 1,330
OFTALEUT HAEBEZ HE(XS) MERU
u]l 1,330
ANAgHE =2 10,404 17,504 AT,100
202 oddl 9,504 9,504 0
01 = LH o4 1l 9,504 9,504 0
ONHLHY LY =T 9,504
203 YR =] 900 1,000 A 100
03 Al =X A2 =XH| 900 1,000 A 100
ONHLHI AR =3 900
SAEE =4 927,453 3,775,330 AN2,847,877
HEE SASE =4 927,453 3,775,330 A2,847,877
SANZS X & 7R 2 100,000 300,000 A 200,000
401 Al & HI & 2 08I 100,000 300,000 A 200,000
1 A&l 100,000 298,560 A 198,560
OZAIIZ2SE ARAEX(60S) 50,000
ORXNE=(7508) 50,000
SANTY 2 FHHE IEXF ET2EHI 201,440 417,340 A215,900
401 AIEBIZ 201 8I 201,440 417,340 A215,900
01 A& HI 200,000 415,000 A215,000
OZAXS M0l off & 60,000
OZATY & FHHLEAEXNR T2+ 80,000
OXbd =M 60,000
03 Al =20l 1,440 2,340 A 900
OEAMNTY & =g AEXF S2FHl Al
H2HHI(0.72%) 1,440
SAZeAHE 29 84,342 78,802 5,540
101 @124l 21,552 18,072 3,480
M4 II12HHZ22NSES 21,552 18,072 3,480
OZAXY A2 RAEs 2
71,837& = 300 21,552
201 Let24d] 40,960 40,960 0
01 At 22l 18,960 18,960 0
O A ZelAHE M2z
880,000& * 2H » 63| 10,560
ORAAAAS BA2gy
70,000& = 12% = 103 8,400
02 8323l 22,000 22,000 0




A FEMHLL
Hu: CASY T4
WS CABY T4 CERED
SN R BA(SA) - MEAY - B il Bl RE2
OFRSUEES2ANLAHE(KRAS)EE X AKX
&2t 22,000
202 O4dl 15,930 13,770 2,160
01 = LH 4 Hi 15,930 13,770 2,160
OMg& 2 & XX A 7,290
OS Al A& & Xl Z AL 8,640
203 ¥ S =&l 900 1,000 A 100
03 AIZ=AH 2 =AH| 900 1,000 A 100
OJIBtAIE RS A =& 900
206 M= Hl 5,000 5,000 0
01 =4l 5,000 5,000 0
OZAXY AIEd2 RXE= M= HI 5,000
SAHE BEANAE(UPIS) SAE =+ 42,000 42,000 0
201 et 42,000 42,000 0
02 2324l 42,000 42,000 0
OZAMAHE HFEANAH(UPIS) FANE= 42,000
OlEsX 243 X2 170,000 170,000 0
401 AIEHI L 2 0] 170,000 170,000 0
01 A& Hl 170,000 170,000 0
OZAHEANSE BI=EX 243 170,000
ANEAOIEAE EI 50,000 350,000 A 300,000
401 Al HIZ 201 I 50,000 350,000 300,000
01 A& HI 50,000 347,840 A 297,840
ONEHEZ SNE= 50,000
EANSE =4 85,368 2,009,844 AN 1,924,476
101 @124 dl 5,344 4,820 524
0412t Z2XREES 5,344 4,820 524
OZANSE RA2el 2y 66,8008 * 80 5,344
201 Let24dy| 24 24 0
02 2324l 24 24 0
OZANZSE 232= 2,000& 128 24
401 Al HIZ 201 I 80,000 2,005,000 A 1,925,000
01 A& HI 80,000 1,999, 960 A 1,919,960
OFA=SIFXH 80,000
AEAHOIE 243t 94,303 87,344 6,959
101 1244 dl 43,103 36, 144 6,959
4 DIt Z2XREES 43,103 36,144 6,959




A FEMHLL
Hu: CASY T4
el XA TAHY X4 CERED
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
OXNENER RRES ARY
71,837& = 600 43,103
201 ¢er24] 46,200 46,200 0
01 At 22l 15,000 15,000 0
ORENE=Z RAES FUHYUE 5,000
OZSs&H HAAES 500,000& * 40 2 2,000
OZsaFd BEa=iE
100,000& 4044 = 203l 8,000
02 =224l 31,200 31,200 0
O0lsty 2oty MIlea 500,0008 » 128 6,000
ONEANUNHA HIIRS 100,000& » 12& 1,200
O=g NHENEH It 4403 * 50,000 22,000
O3sazd RXE= 500,000& * 4042 2,000
206 24 5,000 5,000 0
01 M2 4l 5,000 5,000 0
OMENEZ RANES W HI 5,000
SATHEX 2 HE X2 100,000 0 100,000
307 glz2tol & 100,000 0 100,000
03 IAHMNHE2IHIEL 100,000 0 100,000
OEAMTHMEXZME 2 1A 67,400
OZANMMEXNHLE 2 K& 32,600
ANAgdds 1,749,000 443,000 1,306,000
= 300,000
s 400,000
< 54,000
i 995,000
N @Igt =4 1,749,000 443,000 1,306,000
= 300,000
s 400,000
< 54,000
[ia 995,000
EXNEEXF 800,000 300,000 500,000
s 400,000
s 400,000
401 AIEHI L 20 800,000 0 800,000
s 400,000
[ia 400,000
01 A& Bl 800,000 0 800,000
OUMTHAESER JIBHAIE 800,000
s 400,000
fia 400,000
LAY 50,000 44,000 6,000
207 A O] 50,000 44,000 6,000




EXN: FEHL
Hu: (oAUHEE
Chel: KW A XA GEERED
SN EHD B (3H) - MEAY - BAS Ol &F 04 ﬁlgﬁ HDZ2
01 | 50,000 44,000 6,000
Ogoly =8 Ssidy 48 8Y 50,000
HE0ISAY 99,000 99,000 0
= 54,000
= 45,000
307 gizto| A 9,000 9,000 0
= 9,000
02 Q2B AMAIE E =X 9,000 9,000 0
Q#=DIS AP (1SHH) 3,000,000& * 3JHA 9,000
== 9,000
402 SI2vXH=20| ™ 90,000 90,000 0
o 45,000
= 45,000
02 CIZEXIEAIS E X (0| XM THL) 90,000 90,000 0
Q=20 S ALY (2EHH) 30,000,000 * 304 90,000
& 45,000
= 45,000
SCfdE ZEAMY 800,000 0 800,000
= 300,000
= 500,000
401 AlEHIZ £ 0HY| 800,000 0 800,000
= 300,000
= 500,000
01 Al&H| 800,000 0 800,000
OST S AIE X7 J|BHAIA 300,000
= 300,000
O=s8zD g 450,000
OFdotMAC 2 HAHsEI} 50,000
HMSAAH (g ) 34,914 105, 245 AT70,331
JI2ZH (E N D) 34,914 33,228 1,686
Jl2dH (S D) 34,914 33,228 1,686
201 LBt | 28,650 27,504 1,146
01 AP 22| d| 28,650 27,504 1,146
OJle4+g| 14,250
OJlE232 &l 14,400
202 o4 | 2,484 2,484 0
01 2L HI 2,484 2,484 0
OZd8Ney JIsgex=a 2,484
203 € R F=&d| 3,780 3,240 540
04 EANSIELR=XH| 3,780 3,240 540
OZ8Mg ) FASILERF=EH|
350,000€¢ = 12€ * 90/100 3,780






